Page: 1 of 5 6/24/2022 3:12:56 PM

Election Summary Report

Closed Primary

Hancock

June 21, 2022

Summary for: All Contests, All Districts, All Tabulators, All Counting Groups Official and Complete

Elector Group	Counting Group	Ballots	Voters	Registered Voters	Turnout
Total					
	Elections Day	747	747		13.09%
	Advance Voting	510	510		8.94%
	Absentee by Mail	352	352		6.17%
	Provisional	0	0		0.00%
	Total	1,609	1,609	5,706	28.20%

Precincts Reported: 10 of 10 (100.00%)
Registered Voters: 1,609 of 5,706 (28.20%)

Ballots Cast: 1,609

Lieutenant Governor - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	611	458	314	0	1,383 / 5,706	24.24%
Undervotes	113	81	24	0	218	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Charlie Bailey		276	219	105	0	600	
Kwanza Hall		222	158	185	0	565	
Total Votes		498	377	290	0	1,165	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Page: 2 of 5 6/24/2022 3:12:56 PM

Secretary of State - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	611	458	314	0	1,383 / 5,706	24.24%
Undervotes	107	72	22	0	201	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Dee Dawkins-Haigler		178	112	64	0	354	
Bee Nguyen		326	274	228	0	828	
Total Votes		504	386	292	0	1,182	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Commissioner of Insurance - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	611	458	314	0	1,383 / 5,706	24.24%
Undervotes	129	92	27	0	248	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Raphael Baker		277	190	74	0	541	
Janice Laws Robinson		205	176	213	0	594	
Total Votes		482	366	287	0	1,135	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Commissioner of Labor - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	611	458	314	0	1,383 / 5,706	24.24%
Undervotes	137	99	24	0	260	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
William "Will" Boddie, Jr.		322	260	230	0	812	
Nicole Horn		152	99	60	0	311	
Total Votes		474	359	290	0	1,123	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Page: 3 of 5 6/24/2022 3:12:56 PM

US House of Representatives - District 10 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	115	40	19	0	174 / 5,706	3.05%
Undervotes	1	0	0	0	1	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Mike Collins		61	29	15	0	105	
Vernon Jones		53	11	4	0	68	
Total Votes		114	40	19	0	173	
		Flections Day	Advance	Absentee by	Provisional	Total	

	Elections Day	Advance Voting	,	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

US House of Representatives - District 10 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	613	458	314	0	1,385 / 5,706	24.27%
Undervotes	127	81	23	0	231	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Jessica Allison Fore		125	75	46	0	246	
Tabitha Johnson- Green		361	302	245	0	908	
Total Votes		486	377	291	0	1,154	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Chairman - Bd of Education (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	745	510	352	0	1,607 / 5,706	28.16%
Undervotes	12	1	4	0	17	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Dennis Brown		406	325	202	0	933	
Annie Ingram (I)		327	184	146	0	657	
Total Votes		733	509	348	0	1,590	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Page: 4 of 5 6/24/2022 3:12:56 PM

Bd of Education - Dist 3 (Vote for 1)

Precincts Reported: 3 of 3 (100.00%)

	Elections Day	Advance	Absentee by	Provisional	Total	
Times Cast	189	118	125	0	432 / 1,339	32.26%
Undervotes	2	1	1	0	4	
Overvotes	0	0	0	0	0	

Candidate	Party	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Richard "Ric" Thomas		60	52	72	0	184	
Mary Thomas-Jackson (I)		127	65	52	0	244	
Total Votes		187	117	124	0	428	

	Elections Day	Advance Voting	Absentee by Mail	Provisional	Total	
Unresolved Write-In	0	0	0	0	0	

Page: 5 of 5 6/24/2022 3:12:56 PM